COMMON QUARTERLY EXAMINATION-2023-24

Time Allowed : 3.00 Hours]  ~ MATHEMATICS T .. [Max. Marks: 100
o " SECTION-| - : ¢
Answer all of the following: | g 14x1=14
1. Un(AxB)=6andA=(1, 3} then n (B) ig e .
a 1 by o2 gt A b d) 8L
2. K{{a 8), (6, b)}represents an Identity function then the value of a and b are respectively
a (86 . B.®8 . "9 {8 L d  (6,6)
3. Kx)=(x+1)*- (x-1) represents a function which ig -~ :
&) -~ Linear . =B Cubic ¢) Reciprocal d).  Quadratic
4. -IftheHCF of65and117is expressible in the form of 65m - 117, Then the value of m is ---—-
aQ 4 ) B oz ) M st il s
5 . 7%= {mod 100). 5 Pk 2 G :
Ya) g R e T
B IF1+2+3+ .. +n=kihen13« 29+ 3 Wi R = e i
e K U 'Lftu S ke
7. yz ...}1? is not equal to ‘ ; y
gy Y1 i AR 1Yy ] PN e
) v k) Pte : ’c): 5 +,.2 _.d)_y'i-y 2
8. The solution of (2x - 1)2 = 9 is eljual 1 e 2 NI ) .
a A ; “by L2 o2, .4), Noneofthese
9. If AABC s an isosceles triangle with ZC = gge and AC=5cm, thenABis Mo wl
©+ @ 25cm i by 5em < 10em ) E¥Zem |
" 40. 'Ifin AABC, DE[|BC, AB = 3.6 cm, AC = 2.4 cm and AD = 2.1cm then thig fength of AE is * :
. a) ld4em : by . 1.8&m " €. 12em " d)  1.05cm’
1. The straight line given by the equation x = 11 fs TEETRESTOEGE I g
g) Parallelto X axis T ¢ vB) “Parallel to Y axig 77 it
. ¢} Passing through the origin ) d)  Passing through the paint (0;11)
12. Slope of line ax + by + ¢ = 0 is ~-en-—- . ' R e g
b ) 3 a It Gt pen
. 8) s LI e s
13. (2, 1) is the point of intersection of two lines . * s ik P
8 X-y-3=0;3x-y-7=0 ‘ ) x+y=3;"3x-+'9=7
C) 3x+y=3x+y=7 ) X+ 3y-3=0; xay-7=0.
14, tanb'cosec™ - tan equal to . by : ;
a) sechd - b) coi?B - €) sinB . dr- cotd,
: : : SECTION - II e ;

. Answer any 10 quesfions. Questlon No. 28 Is compulsory, R - 10x2=20
15, ARelation R is given by the set{ (x, y) /y = x+3 x € 10:1,2. 3, 4, 5). Determine its domain and range.
16.  Afunction fis defined by.f(x) = 3 - 2. Find x such that T2y = [f(x)12. i
17. Letfbea function f; N —» N be defined by f(x) = 3x + 2,x €N (i) Findthe images of 1 and 2

" ii) Find the pre-images of 29 and 63, i ’ 8 )
1B. - If 13824 = 2* x 3t then find aand b.

Find &, and a,, whose n* term I
n-1
el niseven,pEN
a.= n o i . N &
2neq | M8 odd ne CH/16/Mat/1



20.

21.

2
23.

_ Find the excluded values of

Find the sum '3 + 1+ g + s L
x-27
: 33+ X2 - BX.
Determine the quadrahc equatlon whose surm and product of - 9 and 20.

1f AABC is similar to ADEF such that BC 3 cm, EF=4cm and area of AABC 54 cm?. Find the area

. . of ADEF.

- 24,

25.
26.

27

28.

.
28.

30.

31,
32,
33..

3s.
" 3.
ar.

38,
39.
40.

41
- 42,

43.

43.

- b)

: AD _3and
InABC, DandE are pomts on the sndes AB and AC respectively such that DE||BC If — DB 4
AC =15¢cm fmdAE K :
The line through the points (-2 a) and (9, 3) has slope 11'2 Find the value of a.
Find the intercepts made by the line 4x - 9y + 36 0 on the co-ordinate axis.

. Prove that FE%-. & cnsec9+ cotB
If the pomts (p2 0) (0 qz) and (1 1) are stralghtllne Then prove that 1p—+ % =

' ‘ i SECTION - 1il ; : T3
Answer the followmg any 10 questlons Q.No.42is compulsory. . ) 10x5=50

LetA={xEW | x<2} B= {xe‘N | 1=<x=4} and C = {3, 5}. Verify thatAx(BuC) (AxB) U (AxC).
2x+ 7 x< -2
If the function fFR-R | le definad by_f(x) =] x2-2/ 2<x<3 thenfind the values nf
ik 3x-2;° ,x>3 :

) f) ' iy f f(4)+2f(1) W) %::}M

If f(x)= x-1 a{x) = 3x+1 and h(x) = x2. Prove that (fo@)ah = fo(goh). .
In anA.P, sum of four consective terms is 28 and their sum of the|r squares is 276. Find the four numbers
Find the sum to n terms of 3+33 +333+

" Rekha has 15 square colour papers of sizes 10 cm 11 cm, 12 em.....24cm. How much area can be’

decorated with these colour papers'?
Solve : x+y+z—5 2x-y+z-—9 X-2y+32=16. .
If 36x* - 60X* + 61x2- mex + h is a perfect square, find the values of m and n.

Prave that the equation »* (p? + g2 + 2x (pr + @s) + r+ 52=0 has no real roots. If ps = gr then show that
the roots are real'and equal. . -

State and prove Angle b|sectortheorem : o
Find the area of the quadralaterai formed by the points (8,8), (5,11), (-5,12) and (-4,3).

Fmd the equatmn of pemendmular hisector of line joining the pomtsA (-4.2)and B (6, -4).
cos B _ -1;

T then rove t| t ‘=
1+sin®  a. Prove g 1 g :
The sum ofthe rec1procals of (x+2) and (x-2) is equal to 6 times ofthe recuprocaL of dx+7, Fmd the value of x.
SECTION - IV

Answer the followmg v 2x8=16

a) Abusis travelling'ata uniform speed of 50 kmyhr. Draw the dlstance time graph and hence find
i} the constant of variations ii) how far will it travel in 90 minutes? iii) the time required to cover a
distance of 300 km from the graph.

(OR)
b)  Draw the graph of xy = 24, x,y>0 using the graph find {i) ¥ when x=3 and (i) xwheny=6.
a) ' Construct a triangle similar to a given triangle PQR with its smdes equal to

T30t th
sides of the APQR (scale factor 7/3 < 1) 3 ofthe corresponding

(OR)
Construct a APQOR such that QR =6.5 cm, ZP = gg° and the altitude from P to QR is of length 4.5 cm
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